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WINTER HOLIDAY HOMEWORK (2024-25)

CLASS VI
General Instructions:
a) The date of submission of the assignment are as follows:

S NO. SUBJECTS DATE OF SUBMISSION
1. Science & Sanskrit 7th Jan 2025
2. Social Science & English 8th Jan 2025
3. Hindi, IT/Al& Maths 9th Jan 2025
b) The assignment is to be attempted in class notebooks.
c) Neatness and timely submission of assignments carries extra marks.
ENGLISH
Topics

Reading Comprehension, Word Power, Poster Making, Prepositions, Wandering
Singers

Reading

Do you like video games? Lots of people do. There are many types of video games.
Some people like action games. Other people like driving games. But the most popular
game of all time is a puzzle game. Tetris is a game about making lines. Blocks fall from
the top of the screen. They fall one at a time. The player moves the blocks. Once the
blocks hit the bottom, they are locked in place. Players try to make lines go across the
screen with no gaps. Complete lines disappear. This gives players more room. The
blocks pile up during the game. The game ends when the blocks get to the top of the
screen.

A man named Alexey made Tetris in 1984. All the pieces in Tetris have four blocks.
The word "tetra” means four. Alexey named his game after tetra and tennis. He made
Tetris while working at a science academy in Moscow. Alexey made his game on a
screen that only showed letters. He could not use blocks. The blocks were made out of
letters in the first game of Tetris. Still, all Alexey's friends loved hisgame. It was easy
to learn and fun to play.

Soon the game spread across the world. It was on every computer. It was in arcades. It
came with every one of Nintendo's Game Boy. More than 100 million Game Boys were
sold. Tetris was all over the place.Even today Tetris comes with many phones.

Al. Read the passage carefully and answer the questions that follow:
1. What are the different types of games people play?
What is ‘Tetris’?
Why did Alexey’s friends loved his game?
How does the game Tetris end?
Find the word in the passage that means the opposite of- ‘reappear’.
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Writing
B1. You are the Environment Club incharge of your school. Prepare a poster highlighting
the dangers of Pollution.

Grammar
C1. Underline the correct prepositions in the following passage.

Jim was walking (across, over) the campus (in, at) noon when he met a friend whom he
had not seen (since, during) summer. They stopped (in front of, around) the gymnasium
and sat down (in, on) the steps. After they had talked (for, during) about ten minutes, Jim
said, “I must go (toward, to) Jefferson Hall this semester. Why don’t you drop by some
afternoon (over, after) classes?”

C2. Fill in the blanks with appropriate prepositions.

1. We accept your kind invitation pleasure.
2. | should like to read that book Ernest Hemingway.
3. These oranges are sold the dozen.
4. The door the house is painted red.
5. He says he can communicate mental telepathy.
6. Always sign important papers ink.
7. Would you rather write a pen or pencil?
8. Over one-third the oranges are spoiled.
9. The first speech will be given Mr. Steele.
10. Do you like to travel bus?
Literature

D1. Do you think the poem ‘Wandering Singers’ has a melancholic tone

or a happy tone? Explain your answers using examples from the poem.
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MATHEMATICS

TOPIC: Ratio and Proportions

®

10.

11.

12.

13.

14.

Section A (1 Mark Questions)

The unit of ratio is expressed in ...................

a) Metre  b) Gram c) Litre d) None
The ratio of 8 books to 20 books is
a) 2:5 b)5:2 c)4:5 d5:4
Express the ratio 4:60 in its lowest form
a) 2:30 b) 1:15 c) 3:45 d) None
The ratio of the number of sides of a square to the number of edges of a cube is
a) 1:2 b)3:2 c)4:1 d)1:3

Neelam’s annual income is Rs. 288000. Her annual savings amount to Rs. 36000. The
ratio of her savings to her expenditure is
a) 1:8 b) 1:7 c)l:6 d1:5

Section B (2 Marks Questions)

Fill in the blanks:

a) 20m:70m=Rs8:Rs

b) If two ratios are equal, then they are in .

A fast train covers 320 km in 3 hours 20 minutes. How much time will it take to cover a

distance of 90 km?

Which ratio is larger 10: 31 or 21: 93?
Arvind can type 2700 words in one hour. How many words can he type in 3 minutes?

Section C (3 Marks Questions)

Which of the following are in proportion?
a) 4,12,6,18
b) 6,9,8,12
C) 5,20,1,4

A line segment 56¢cm long is to be divided into two parts in the ratio of 2: 5. Find the
length of each part.

A farmer sells 40 quintal of wheat for Rs.8000. What quantity of wheat should he sell in
order to receive Rs.10000?

Find each of the following ratios in the simplest form:

a) 24to 56

b) 84 paise to Rs.3

c) 48 minutes to 1 hour

State True/False:

a) A ratio will always be more than 1.(True/False)
b) 25kg : 20g = 50kg : 40g (True/False)
¢) 20g: 100g = 1metre : 500cm (True/False)




Section D (4 Marks Questions)

15. Determine if the following ratios form a proportion:
a) 81 kg: 45 kg and 18 men: 10 men
b) 45 km: 6000m and 12 h: 15 h
c) 30 bags: 18 bags and Rs. 450: Rs. 270
d) 36: 45 and 80: 100

Enrichment Questions

16. Find the value of x in each of the following proportions:
a) 55:11::x:6
b) 27:x::63:84
CASE STUDY BASED

1.Present age of Ramu’s father is 42 years and the age of Ramu is 14 years. Based on the above
information, answer the following questions:

(i)Find the ratio of present age of father to the present age of Ramu.

(if)Find the ratio of Age of the father to the age of son, when son was 12 year sold.
(ili)Find the Age of father after 10 years to the age of son after 10 years.2

(iv)Find the age of father to the age of son when father was 30 years old.

. From the figure, find the ratio of
(@) The number of squares to the number of triangles.
(b) The number of circles to the number of rectangles.

(c) The number of circles to the total number of figures
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GENERAL SCIENCE

Topic:Light,Shadow and Reflection

1. Observe the picture given in figure carefully. wed’

A patch of light is obtained at B, when the torch is lighted, as
shown. Which of the following is kept at position A to get
this patch of light?

(a) A Metal sheet . 3

(b) A glass sheet . '

(c) A mirror 'tc“’»

(d) A sheet of white paper, Fig. 11.1

2. A student observes a tree given in figure through a pinhole camera. Which of the
diagrams given in figures (a) to (d) depicts the image seen by her correctly?




(@) (b)

(c) (d)

Fig. 11.3

3. Three torches A, B and C, shown in figure are switched on one by one. The light
from which of the torches will not form a shadow of the ball on the screen.
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Fig. 11.7
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4. Classify the following into transparent, opaque and translucent objects:

Wax, spectacles, a heap of salt, a stone, dense smoke, wood, skin, balloon, rubber,
membrane of a tabla, blood and milk.




5. Close your eyes while looking towards bright sunshine. Now, cover the eyes with
your palm still keeping them closed. Do you notice any difference? On the basis of
this experience, state whether your eyelids are transparent, translucent or opaque.

6. Four students, A, B, C and D, looked through pipes of different shapes to see a
candle flame as shown in fig 11.4.

& D
Fig. 11.4
Who will be able to see the candle flame clearly?
(@) A
(b)B
(cC
(d)D

7. Sometimes, you are able to see the Sun or the Moon behind the clouds. What can
you say about the ability of such clouds to transmit light?

8. How will you convert a transparent glass sheet into a translucent sheet? Suggest
any two ways to do it.

9. Name sources of light that are not hot.

10. Write down four man-made sources of light.

11. Does the fire emit light?

12. Give examples of two substances through which light does not pass?




SOCIAL SCIENCE
TOPICS:
Geography: Our Country India
History: From Kingdom to an Empire.

ONE MARK QUESTIONS:

1. Name any two Chinese Buddhist pilgrims.
2. The latitudinal extent of our country is
3. Give two examples of east flowing rivers.

4. Make a list of important cities of the Mauryan empire.

5. State True/False

(i) Aravali hill is one of the oldest ranges of the world.

(i1) India has an area of about 1.28 million sg. km.

(iii) The Greater Himalayas are also known as Himadri.
(iv) The Tropic of Cancer (23°30°N) passes almost halfway
through the country.

(v) India is located in the southern hemisphere.

6. Observe the picture and fill up the blanks:

a) How many lions are visible in the Ashoka Lion Capital as seen in the national emblem?
b) Where was the original Ashoka Lion Capital discovered?

c) What is inscribed below the Ashoka Lion Capital in India's national emblem?

d) The Ashoka Lion Capital was adopted as the national emblem of India in which year?

7. Study the map carefully and answer the following questions:
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A. The four states which are situated along the Himalayas are:
(a) Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Arunachal Pradesh
(b) Gujarat, Maharashtra, Haryana, Rajasthan
(c) Gujarat, Chhattisgarh, Bihar, Jharkhand
(d) Bihar, West Bengal, Orissa, Uttar Pradesh

B. The neighbouring countries that share their boundaries with India are :
(a) Pakistan and Afghanistan
(b) Myanmar and Bangladesh
(c) China and Nepal
(d) All the above

C.  Which meridian is fixed as a Standard Meridian of India?
(@) 822° E
(b) 84¥%2° E
(c) 86° E
(d)81°E

D.  Which of the following Union Territories is located along the west coast of India?
(a) Andaman and Nicobar Islands
(b) Chandigarh
(c) Dadra and Nagar Haveli
(d) Puducherry

E. Due to which of the following reasons is the Indian Ocean named after India?
(@) India has a strategic location along the trans-Indian Ocean routes
(b) No other countr y has a long coastline on the Indian Ocean as India
(c) India is centrally located at the head of the Indian Ocean
(d) All the above

F. By which geographical feature is India bounded in the north-west, north and north-
east?
(a) Seas
(b) Lave Plateaus
(c) Young Fold Mountains
(d) Sandy Desert

THREE MARK QUESTIONS:

1. How can we say Ashoka was a unique ruler?

2. Elaborate upon the main features of the Peninsular Plateau.

3. Standing as sentinels in the north of India are the lofty snowcapped Himalayas. Discuss the
three main ranges of the Himalayas.

4. Mention main features of administrative system of the Mauryan empire.




INFORMATION TECHNOLOGY

TOPIC: Internet Services and Safety

Prepare a presentation in Adobe Express on using
the following link:
Step 1. Login to Adobe express using the following
link:
https://new.express.adobe.com/?rdt=exp .
Step 2. Login using your Gsuite id
Step 3. Select Presentation
Topic: Ecommerce
e What is E-Commerce?

e Advantages of E-Commerce
e Types of E-Commerce
o Examples of E-Commerce

Share and Copy the link of the presentation prepared in
Adobe Express.

Submit the link in the following Google Form
https://forms.gle/3Q5FTYAWEK4gN1D96
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ARTIFICIAL INTELLIGENCE

Topic: Generative Al

Design a Winter Carnival Flyer Using Generative Al in Adobe

Express

Create an eye-catching flyer for the upcoming Winter Carnival,
scheduled to take place at the school on 19th January 2025.
Leverage the text-to-template feature using Generative Al to create

an attractive design.

Highlight key attractions like the Haunted House, Lucky Draw, thrilling

rides, exciting games, and more!"
You can refer the template attached
https://new.express.adobe.com/?rdt=exp
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